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EREBER2E AMBAEES
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FERS

FHEE BREXE
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BERNRRK SHSEE TSR RSN 8/ 8K EHRRHGIR)

% i1 Mg - BAIKTR Bif # B B ® #® wmE
E R 12,764, 634
RETET 12,764, 634
KHEERET 12,764, 634
KHEERET 12,303, 520
REtETE 117, 400
1 E&EtEtE 1.00 117, 400 117, 400
=
BIM/CIM T JLYERL 140, 050
2 BIM/CINE B EIE 1.00 140, 050 140, 050
=
RERE 581, 600
RERE 1.00 581, 600 581, 600
=
KA 7,145,220
4 REWEOBIERE 1.00 3,294, 540 3,294, 540
=
5 m{TER DGR ET 1.00 437, 650 437, 650
=
6 HEKERDHEIERET 1.00 890, 640 890, 640
=
1 ERfTEEEDOBRE 1.00 1, 406, 980 1, 406, 980
=
8 {RERBRRDHEERET 1.00 875, 660 875, 660
=
I METEEDOEH 1.00 239, 750 239, 750
=




BERNRRK SHSEE TSR RSN 8/ 8K EHRRHGIR)

% i1 i 2 Bify B B i ® #® wmE

HEIEtE 2,249,900

10 ETEHDOHRE 1.00 504, 800 504, 800
=

1 I EORE 1.00 1,745,100 1,745,100
=

BERERL 1,451, 350

12 HmEER (RERERR) 1.00 502, 720 502, 720
=

13 BEHE (RFER) 1.00 563, 730 563, 730
=

14 BRHERZEENOER 1.00 384,900 384, 900
=

& - |E 291, 600

15 1% - 3|E EHIT, PRE2, &K1 4.00 72,900 291, 600
]

BE 100, 500

16 BE 1.00 100, 500 100, 500
®

R 225,900

17 S|EEER 1.00 225,900 225,900
=

E#EEE 461,114

EHARE 119,114

18 EHAME 1.00 119,114 119,114
®

& 300, 000




BERNRE

SHSEETEEBF(RA-E/HR)ERERETGIX)
% R I - KT Bifr H = B & 28 W E
19 XEMRG 1.00 300, 000 300, 000
=
EIXRERE 42, 000
20 BIXEHER 1.00 42,000 42,000
=




BiER SR5EE TR R 1 AR EHRH T R)

4 g B - K& B % = L] ® = W=
BRI 12,303,520 + 461,114 12,764, 634
BEEAGE 12, 303, 520
BE#RE 461,114
Z O fth S5 f 12,303,520 x 53.85% ( 35% + (1 — 35%) ) 6,625, 445
e 2 i 12,764,634 + 6,625, 445 19, 390, 079
—REEES 19,390,079 x 53.85% ( 35% + (1 — 35%) ) — 1,636 10, 439, 921
KBS 19,390,079 + 10, 439, 921 29, 830, 000
HBEREALE 29,830,000 x 10.00% 2,983,000
e EHTL 29,830,000 + 2,983, 000 32,813,000




K& -ET/\vr—2

DHSEE TEEERRM B/ HR)ERHTGIR)

=1
B F  BRETETE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
& it YEZREN - 1.00K 117, 400. 00 117, 400
&S :2
%75 : BIM/CINEEEH B ZE =)
%4 7 R - AR R B3 = B & # # B &
EX: T TC D)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 0.50 45, 300. 00 22, 650
& it EZREN - 1.00 140, 050. 00 140, 050
&S :3
£ B 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 2.50 62, 200. 00 155, 500
A (A)
A 3.00 55, 200. 00 165, 600
A (B)
A 3.00 45, 300. 00 135, 900
HEm (C)
A 3.50 35, 600. 00 124, 600
& it YEZRED - 1.00 581, 600. 00 581, 600




K& -ET/\vr—2

DHSEE TEEERRM B/ HR)ERHTGIR)

EE .4
L IZEMEOBERE 1RHY
% 7 R - AR R B3 H 2 B £ & B &
EX: T TC D)
A 9.00 62, 200. 00 559, 800
A (A)
A 22. 50 55, 200. 00 1,242,000
A (B)
A 15. 80 45, 300. 00 715, 740
HEm (C)
A 16.50 35, 600. 00 587, 400
Hftt &
A 6.00 31, 600. 00 189, 600
& i YEZREN - 1.00K 3, 294, 540. 00 3, 294, 540
EE =)
&5 - RATER O EERET 1RHY
% 7 R - AR R B3 H 2 B £ & B &
EX: T TC D)
A 1.50 62, 200. 00 93, 300
A (A)
A 2.50 55, 200. 00 138, 000
A (B)
A 1.50 45, 300. 00 67, 950
HEm (C)
A 3.00 35, 600. 00 106, 800
Hftt &
A 1.00 31, 600. 00 31, 600
& i YEZRED - 1.00 437, 650. 00 437, 650




K& -ET/\vr—2

DHSEE TEEERRM B/ HR)ERHTGIR)

ES:6
275 - HekEBoEERE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 1.80 62, 200. 00 111, 960
A (A)
A 4.80 55, 200. 00 264, 960
A (B)
A 6.00 45, 300. 00 271, 800
HEm (C)
A 3.60 35, 600. 00 128, 160
Hftt &
A 3.60 31, 600. 00 113, 760
& i YEZREN - 1.00K 890, 640. 00 890, 640
E&S:7
& . ERMAFEEMORE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 4.50 62, 200. 00 279, 900
A (A)
A 6.80 55, 200. 00 375, 360
A (B)
A 6.80 45, 300. 00 308, 040
HEm (C)
A 9.80 35, 600. 00 348, 880
Hftt &
A 3.00 31, 600. 00 94, 800
& i YEZRED - 1.00 1, 406, 980. 00 1, 406, 980




RIER-TEI/\vr— SH5EE TS SR (ER -0/ M) EHERHGIR)

S :8
& REREROEERET 1RHY
% 7 R - AR R B3 H 2 B & # W = B &
EX: T TC D)
A 3.80 62, 200. 00 236, 360
A (A)
A 4.50 55, 200. 00 248, 400
A (B)
A 3.00 45, 300. 00 135, 900
HEm (C)
A 4.50 35, 600. 00 160, 200
Hftt &
A 3.00 31, 600. 00 94, 800
& i YEZREN - 1.00K 875, 660. 00 875, 660
=)
&% IEIEEDOHE 1RHY
% 7 R - AR R B3 H 2 B & # W = B &
A (A)
A 1.50 55, 200. 00 82, 800
A (B)
A 1.50 45, 300. 00 67, 950
HEm (C)
A 2.50 35, 600. 00 89, 000
& it YEZRED - 1.00 239, 750. 00 239, 750




K& -ET/\vr—2

DHSEE TEEERRM B/ HR)ERHTGIR)

H5:10
L BIEHORE 1RHY
% 7 R - AR R B3 = B £ & B &
EX: T TC D)
A 2.50 62, 200. 00 155, 500
A (A)
A 3.00 55, 200. 00 165, 600
A (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 3.00 35, 600. 00 106, 800
Hftt &
A 1.00 31, 600. 00 31, 600
& i YEZREN - 1.00K 504, 800. 00 504, 800
#5511
L I EO®RE 1RHY
% 7 R - AR R B3 = B £ & B &
EX: T TC D)
A 7.50 62, 200. 00 466, 500
A (A)
A 9.00 55, 200. 00 496, 800
A (B)
A 6.00 45, 300. 00 271, 800
HEm (C)
A 9.00 35, 600. 00 320, 400
Hftt &
A 6.00 31, 600. 00 189, 600
& i YEZRED - 1.00 1, 745, 100. 00 1,745,100
H5 :12
2 - KmEER RERER) 1RHY
% 7 R - AR R B3 = B £ & B &
HEm (C)
A 5. 60 35, 600. 00 199, 360
Hftt &
A 9.60 31, 600. 00 303, 360
& i YEZREN - 1.00K 502, 720. 00 502, 720




K& -ET/\vr—2

DHSEE TEEERRM B/ HR)ERHTGIR)

H5 13
2 BEHE (RERER) 1RHY
% 7 R - AR R B3 = B & # & B &
A (A)
A 0. 60 55, 200. 00 33,120
A (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 4.80 35, 600. 00 170, 880
Hftt &
A 7.80 31, 600. 00 246, 480
& i YEZREN - 1.00K 563, 730. 00 563, 730
H5: 14
2 F B RHREREE M OMER 1RHY
% 7 R - AR R B3 = B & # & B &
A (A)
A 1.20 55, 200. 00 66, 240
A (B)
A 1.80 45, 300. 00 81, 540
HEm (C)
A 2.40 35, 600. 00 85, 440
Hftt &
A 4.80 31, 600. 00 151, 680
& i YEZRED - 1.00 384, 900. 00 384, 900
H5 : 15
L g - e BAT, P2, &1 HEED
% 7 R - AR R B3 = B & # & B &
A (A)
A 0.50 55, 200. 00 27, 600
A (B)
A 1.00 45, 300. 00 45, 300
& it YE%8EH - 1.00E 72, 900. 00 72,900




K& -ET/\vr—2

DHSEE TEEERRM B/ HR)ERHTGIR)

H5: 16
4 g K - BT B4 = B M * & # w %
A (A)
A 1.00 55, 200. 00 55, 200
B (B)
A 1.00 45, 300. 00 45, 300
& it 1YEZHEH - 1.00K 100, 500. 00 100, 500
&H5 17
B MESER 1X5Y
& g K - BT BfL = B M * & # i %
FEHERAR (BEH
A 1.00 62, 200. 00 62, 200
BEm (A)
A 1.50 55, 200. 00 82, 800
B (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
& it 1YE%HEH - 1.00K 225, 900. 00 225,900
&5 :18
&% FHARE 15y
4 g K - BT B4 = B M * & # w %
EHERARE
= 1.00 119,114.00 119,114
& it 1YE%HEH - 1.00K 119,114.00 119,114
H5:19
& EBRERE R 15y
4 g K - BT B4 = B M * & # w %
EBHRRE
= 1.00 300, 000. 00 300, 000
=) it 1YE%HEH - 1.00K 300, 000. 00 300, 000




K& -ET/\vr—2

SISEETHEBRER B/ AR)ERZIFTGIX)
H5:20
& EIEEREE 14y
2 Lo R - KT B B = B M & ) W E B &
ZTDMhEE
= 1.00 42,000. 00 42, 000
& it 1EZBER - 1.00 42,000. 00 42,000




